FILTERED

DUAL PORT D-SUB CONNECTORS

A /- THREADED OR 7 PIN OR SOCKET CONNECTOR
q / THROUGH HOLE Y AVAILABLE IN EITHER PORT
/ INSERT \\
( 13,12, 41 10 8 i7 {' I — =_l
_4}_%@§ 'gdedoocco) qg
0080000000000, bl ;
A } - 244 31 60] ! =
H H 750 [19.05)
1 ~ |
A (oﬂo 0% %% % % %" @" {
\U \5016017°(B°ﬂ° @°2V022°73°24°250
318 [8.08] —fa-——umi _.l beaee 112 {2.84]
560 [14.99] - ._>*w..1
a |
e 054 [1.372
! - 112 [2.84)
_i__~.,€} ¢¢4M¢HW¢M»H> - Dimensions
315 [8.0G} ¢¢‘MH}¢!<HHHHH’ T, 272 (691} Connector size A B C
Bl b} & 6 Py : e e e
‘ﬁ;*f,,,g*qﬁfff‘,,,w ———r T 1213[3081]  984(2499]  432(1097)
| ! 15 1.541(39.14]  1.312[33.32]  .756 [19.20]
R \ N 25 2088 5304  1852[47.04] 1.304[3312]
P.C.B. LAYOUT

HOW T0O ORDER DUAL PORT D-SUB

§FOC17 -2|BP§{BS|-4] |1]5i0

FCC1? Series Designation

2 Vertical Mounting Dimension
Between Connectors of .750"

{other options available}

BP Upper Cannector Configuration

{Size and Style)

EP. 9pin

ES. 9socket

AP: 15 pin —

AS: 15 socket Modifier: 0
BP: 25 pin 0: Standard Product

BS: 25 socket x: Special or Custom Versions

___3 . .

BS Lower Connector Configuration LowerConnectorFllterCapa}cutance: 4 5
(Size and Style) same as Upper Connector same as )Upper Connector Filter Capacitance
Configuration Designation

[ ___ 4

-4 Mounting Upper Connector Filter Capacitance: 1
2: 120" {3.05 mm] Diameter Through Hole on D: 50 pF 5 1000 pF

Flanges D: 180 pF E: 2200 pF
4: 4-40 Threaded Inserts on Flanges i 470pF 9 5600 pF
E: 4-40 Hex Jack Sockets v 820pF 8 47,000 pF

Amphenol® Canada Corp. Telephone: (416) 754-5656 Facsimile: (416) 754-8668



These preducts are protected by U.S. Patent # 4500159

FILYERED D-SUB CONNECTORS

Filter Characteristics: See Page 2

Electrical Data:

See Page 2

Material and Finishes: See Page 3
Environmental Data:  See Page 3
UL File #: E135615
CSAFile #: LR68598

HOW T0 ORDBER D-SUB

%FCCH -B25|PjA]-4

I
FCC17 Series Designation

B25  Size: E09, A5, B25, C37

P Connector Style:
P - Pin, S - Socket, A - Adapter

A Termination Type:
A - Right Angle PC Tail, .318" [8.08 mm] Footprint
B - Right Angle PC Tail, .405" {10.29 mm] Footprint
C - Right Angle PC Tail, .590" [14.99 mm] Footprint
D - Pin/Socket Adapter
E - Vertical Mount PC Tail
M - Solder Cup
N - Long Body, Vertical Mount PC Tail

I

-4 Mounting (on flange):
A: Vertical Mount, 4-40 Threaded PC Tail Standoffs

with Boardlock

2: 120" [3.05 mm] Diameter Through Hoie
4: 4-40 Threaded inserts {self-locking inserts available)
6. M3 Threaded inserts
E: 4-40 Hex Jack Sockets

(2]

Gold Content on Contacts:
No Digit: 15y inches [0.38 microns]
G: 50p inches [1.27 microns]

Modifier:

0 = Standard Product {Boardlocks on Right Angle
D-Subs)

B = Metal Mounting Brackets, for Right Angle D-Subs

x = Special or Custom Versions

Fitter Capacitance: 1
D: 50 pF 5 1000 pF
0: 180 pF £ 2200 pF
1. 470 pF 9: 5600 pF
4: 820 pF 8: 47,000 pF

MOUNTING DIMENSIONS

STANDARD CUT-OUT

(FOR FRONT MOUNTING)

[ S 77»,.1
/A\ P
Vi

120 [3.05] DIA -

i
/V

|
125 [3.18] R - F

]

OPTIONAL CUT--OUT
(FOR REAR MOUNTING}

Size Mounting A B ¢
Front  875(2223]  984[2493]  512(1300]

s U a0702050]  984[2499] 449 (11.40]
120003048 13123332 512{1300]

1 113428801 1.312(33.321 449 [1140]
174414430 1.852[4704] 512 [13.00)

% T 167314249]  1852[4704] 449 [11.40]
5 Fomt | 238906088  2500(83501 512(1300)

Rear 2.326 [59.08] 2.500 (63.50} 1449 {11.40]

Amphenol® Canada Corp. Telephone: (416) 754-5656 Facsimile: (416) 754-8668 .



FCC17 : g FILTERED D-SUB CONNECTORS

b 1.213 [30.81) ——me] b 1.213 [30.81] ———wmf
643 [16.33] ol 666 [16.92)
i — 311 [7.90} | ~— .305 [7.75]
f @ d@ ? fr{\ 1.2 3 4.5 | ?
} @ €}1» 494 [12.55] 00%00 4 A 494 (12.55)
T ‘ hd R b |
\ p, 1 B
‘ \
;.v 984 [24.99] ——and 245 (6.22] ““"i L" 984 [24.99] — o] 235 [5.97) ~eml l.

PIN-TO-SOCKET ADAPTER

r 4—40 UNC THREAD .120 [3.05) DA
/ {4 PLACES) FOR THROUGH HOLE AND
/ DEVIATION —4XX / MOUNTING POST FOR
/ ! DEVIATION —2X¥
1 / / = 4—40 UNC THREAD
i i / /" (BOTH ENDS)
245 [6.22) l /
, Amphenol
1.145 [29.08] @ {
]
1235 [5.97] a0 J
}
Mounting Options
4-40 Threaded Inserts: FCC17-E09AD-4x0
Through Hole with Mounting Post: FCC17-EQ9AD-2x0
SOLDER CUP TERMINATION

038 [0.97] —.-4 ’.~

| Q;_
. |

{ 028 [0.7

230 {5.84] -—-l L§ "

N |
180 [#57] —aef b SOLDER CUP DETAIL
(ACCEPTS UP TO 20 AWG WiRE)

Pin: FCC17-E09PM-xx0
Socket: FCC17-E09SM-xx0

xx =To complete the P/N, see page 5 to assign Mounting Code and Filter Capacitance.
For electrical and mechanical specifications, see pages 2 and 3.

. Amphenol® Canada Corp. Telephone: (416) 754-5656 Facsimile: (416) 754-8668



FILTERED D SUB CONNECL

PC TAIL TERMINATION

VERTICAL MOUNT

THROUGH

/0

— THROUGH
HOLE

INSERT

. .2:5Ae>[5.54] - 79 [7.09] W! ‘[ LUWUUUUUU::H

T
THREADED .140 {3.58] — i
INSERT 470 [11.94]

Pin: FCC17-E09PE-xx0 Pin: FCC17-E09PE-Ax0 Pin: FCC17-E09PN-x0

Socket: FCC17-E09SE-xx( Socket: FCC17-E09SE-Ax0 Socket: FCC17-E09SN-xx0

RIGHT ANGLE, WITH BOARDLOCKS

.318" Footprint 405" Footprint 590" Footprint

.056 [1.42] —am)

.318 [B.08] H ! 405 [10. 2‘] 580 [14.99) «L—J 1
056 [1.42] — - 0S6 [1.42] - |

112 [2.84] —d e 112 [2.84] — 12 [284] —mf b
Pin: FCC17-E03PA-xx0 Pin: FCC17-E09PB-xx( Pin: FCC17-EQ9PC-mx(0
Socket: FCC17-E09SA-»xx Socket: FCC17-E09SB-xx0 Socket: FCC17-E09SC-20

RIGHT ANGLE, WITH METAL MOUNTING BRACKETS
.318" Footprint .405" Footprint .596" Footprint

—-

—
T
318 [8.08] i L 405 [10. 29] 315 [8.00] ~ ( .
056 [142) 3 056 [1.42] - 590 {14.99] — __.g ;
112 [2.84] ‘t‘ 112 {2.84] - k 112 [2.84]) -.j L—.
Pin: FCC17-E09PA-xxB Pin: FCC17-E09PB-xxB Pin: FCC17-E09PC-xxB
Socket:  FCC17-E09SA-xxB Socket: FCC17-E09SB-xxB Socket: FCC17-E09SC-xxB
P.C.B. LAYOUT
040 {1.02] DA —, o .432 [10.97}
9 HOLES AN R 054 [1.37)
_i N ‘ r 275 [6.99] £ 112 [2.84)
_:t?i:r__ | -400-4
ey e S
112 [284] — 120 [:s 05] DlA T
056 (1.42] — '@““"“"““‘“‘@

}.._ 984 {24.99) J l..— 984 [24.99] ’_"i

STANDARD PC.B. LAYOUT P.C.B. LAYOUT FOR
590 METAL BRACKET ONLY

xx = To complete the P/N, see page 5 to assign Mounting Code and Filter Capacitance.
For electrical and mechanical specifications, see pages 2 and 3.

Amphenot® Canada Corp. Telephone: (416) 754-5656 Facsimile: (416) 754-8668 .



FILTERED D-SUB CONNECTORS

|._____ B4 {39.74] e oo 1,541 [38.14] .
»-* 871 [24.66] ] 7 b 994 [25.25] woemi
— 313 [7.90! ; L 305 [7.75]

f

{(%9 édo g%ﬁé}« PEn [;12.551
i

|
. |
1.312 Ku 32} ey .245 [6.22] ~—fma—emn] L;7 ,,,,, 1317 {33.32) — e 235 {5.97] —ei L»—

PIN-TO-SOCKET ADAPTER

~~ 120 [3.05} DIA

4 1.2 3
A lobbblobhbb

_ o

H\J P12 P10 ?
T
i
1

9 10
\ -

[ 440 UNC THREAD I oLt AND
/ THROUGH HOLE. AND
[ (& PLACES) FOR / MOUNTING POST Fom

/
! DEVIATION —4XX / DEVIATION —2XX
/

— 4--40 UNC THREAD
(BOTH ENDS)

} i

’ 245 {8.22) / w /F
1145 %29.05] Amphen0|

mn Lﬁﬁ pEng |

T

|
J

Mounting Options
4-40 Threaded Inserts: FCC17-A15AD-4x0
Through Hole with Mounting Post: FCC17-A15AD-2%C

SOLDER CUP TERMINATION

018 (087} ,i

028 {£.71] —

230 {5.84] - ‘f.~
180 [4.57] — - SOLDER CUP DETAIL
(ACCEPTS UP TO 20 AWG WIRE)

Pin: FCC17-A15PM-%x0
Socket: FCC17-A15SM-xx0

xx = To complete the P/N, see page 5 to assign Mounting Code and Filter Capacitance.
For electrical and mechanical specifications, see pages 2 and 3.

Amphenol® Canada Corp. Telephone: {(416) 754-5656 Facsimile: (416) 754-8668



FILTERED O SUB CONNECTORS

PC TAIL TERMINATION

VERTICAL MOUNT

- THROUGH

| W |
Tﬁmﬁ%

| |
!T’\:?EE,;TDED 1532;3 8{15 8;]4 J 279 [7.09] -

Pin: FCC17-A15PE-xx(0 Pin: FCC17-A15PE-AxD

Socket: FCC17-A155E-xx0 Socket: FCC17-A15SE-Ax0

| 1

i —_ —

i

,14C [3.58) —

i THREADED
! T . Y
INSERT 470 [11.94)

Pin: FCC17-A15PN-xx0
Socket: FCC17-AT5SN-xxd

WITH BOARDLOCKS
405" Footprint

RIGHT ANGLE,
.318" Footprint

I [~

m |
405 {10.26] .4‘#4.. %

318 (8 os] |
056 [1.42] 056 [1.42] —wi
112 [2.84) -{ % 112 [2.84] —ed
FCC17-A15PB-xx0
FCC17-A155B-xx(0

Pin: FCC17-A15PA-xx0 Pin:
Socket: FCC17-AT5SA-xx0 Socket:

590" Footprint

590 [14.99) j‘_ﬂ_,_.J !

056 [1.47) -.{
112 [2.84] —am) }.._
Pin: FCC17-A15PC-xx0

Socket: FCC17-A155C-%x0

RIGHT ANGLE,

.318" Foatprint .405" Footprint

WITH METAL MOUNTING BRACKETS

590" Footprint

!

| ! ;
.318 [8.08} —‘——»»-q « 1 405 [10.29] 44%_—-{ 315 [8.00] —.-_._.;
656 [1.42) 055 [1.42] - .590 {14.99} ~4.. —
112 {2.84) 112 {2.84] 11LL2541——4 ,—_
Pin: FCC17-A15PA-xxB Pin: FCC17-A15PB-xxB Pin: FCC17-A15PC-2xB
Socket: FCC17-A15SA-xxB Socket: FCC17-A155B-xxB Socket: FCC17-A155C-xxB
P.C.B. LAYODOUT
040 [1.02) DIA }-»—wA- #»~—&— 756 {18.2€)
15 HOLES N _1 e 054 [1.37]
N\ 275 [6.99) 112 [2.84)

b ™= 120 [3.05) DA
112 [2.84] — | 2 HOLES
056 [1.42]

,i_.m@,,,,,_

!
1
i
[P 312 (33.32) — el

STANDARD P.C.B. LAYOUT P.C.B. LAYOUT FOR

xx = To complete the P/N, see page 5 to assign Mounting Code and Filter Capacitance.

For electrical and mechanical specifications, see pages 2 and 3.

amma»—[

o0 i
T]—EQ%W+¢¢++»+ I S O Y
‘ m%m%w@

bt 1312 {33.32) ot

590 METAL BRACKET ONLY

Amphenof® Canada Corp. Telephone: (416) 754-5656 Facsimile: (416) 754-8668



FILTERED D-SUB CONNECTORS

|e————————— 2.088 [53.04} et I 2.088 [53.04] ———um]
e 1,511 [38.38] ——und b 1,534 {38.96) o]
~ 311 {7.90} (-~ 305 [7.75]
i i
( | GPRENERE] l § ] 1 - ( IE R !
) i
{i}\ \@bbb gagdd?@ ¢ 454 1258 doo A bbb ;i‘ﬂohotzouo @ ot rass)
! ng{q 1g99l] * - \'J 140150 15°17°]£1°zs°14°zs° i
"~ i \. i W, 1
b 1852 [47.04] e 245 [6.22} _—-’l — 1.852 [47.04] e 235 (597] i pme

PIN-TO-SOCKET ADAPTER

r— 4—40 UNC THREAD ~— 120 [3.05] DIA

/(4 PLACES) FOR ! THROUGH ROLE AWD
/ DEVIATION -4xX /' MOUNTING POST FOR
/ // DEVIATION - 2XX
) N
/ AN - 4~40 UNC THREAD
‘ / . /" {BOTH ENDS)

! 25 ;5.22] / ’%?L L /
| Amphenol
@

i

1.145 {29.08) 4 g
| :

i | 1

l 235 [5.97} ﬁ ﬁ q! ﬁ ﬁ
i )
Mounting Options
4-40 Threaded Inserts: FCC17-B25AD-4x0
Through Hole with Mounting Post: FCC17-B25AD-2x0

SOLDER CUP TERMINATION

038 [0.97) .1 t_.
A

] | 028 {071}
.230 {5.84] —-4

180 [457] b SOLDER CUP DETAIL
(ACCEPTS LP TO 20 AWG WIRE)

Pin: FCC17-B25PM-xx0
Socket: FCC17-B25SM-xx0

»x = To complete the P/N, see page 5 to assign Mounting Code and Filter Capacitance.
For electrical and mechanical specifications, see pages 2 and 3.

Amphenol® Canada Corp. Telephone: (416) 754-5656 Facsimile: (416) 754-8668



i -

ILTERED

SUB CONNERD

TORS

PC TAIL TERMINATION

VERTICAL MOUNT

e ——
| ¥ i ! f : L J/ _

T st T —

| i : ’. f

L e g dva | o ——

INSERT 1230 [5.84] — E Iae— }

-~ THREADED 140 [3.56) :

INSERT 470 [11.24] -
Pin: FCC17-B25PE-xx0 Pin: FCC17-B25PE-AxD Pin: FCC17-B25PN-xx0
Socket: FCC17-B25SE-»xx0 Socket: FCC17-B25SE-Ax0 Socket: FCC17-B25SN-xx0

RIGHT ANGLE,

.318" Footprint

i

WITH BOARDLOCKS
A05" Foctprint

£%

590" Footprint

318 [8.08] ! 405 [10. 291 590 [14.99] +_

056 [1.42] : 056 [1.427] - 056 U 42]

112 [2.84] 112 {2.84] - 112 [2.84] q
Pin: FCC17-B25PA-xx0 Pin: FCC17-B25PB-xx0 Pin: FCC17-B25PC-xx(
Socket: FCC17-B25SA-xx0 Socket: FCC17-B255B-xx0 Socket: FCC17-B25S8C-xx0
RIGHT ANGLE, WITH METAL MOUNTING BRACKETS

.318" Footprint

405" Foatprint

590" Footprint

E _'1"'" Ih‘b
| !
.318 [8.08) ! 5 [10.28] —e— ] 315 [8.00] w“.} \ {
056 [1.42] 056 {1.42] 5 - 590 [14.99] e
112 [2.84] 112 [2.84] t-—— 112 [2.84) —:l 1‘"
Pin: FCC17-B25PA-uMB Pin: FCC17-B25PB-xxB Pin: FCC17-B25PC-xxB
Socket: FCC17-B255A-xxB Socket: FCC17-B25SB-xxB Socket: FCC17-B25SC-xxB
P.C.B. LAYOUT
.g;oH([;L.EoSz] DIA —\ i&- 1.304 [33.12) i I
i o2 76,96} - 112 [2.84)
%\, B . 0.8 0 A . A | ©-o0-¢- ‘W-Q—L
—-4ooFl0-09-0 - 4-0-¢ T
112 [284] | - ;20 [3.05] DiA f i
112 {z. ] WOLES Y AN
056 [1.42] — | @ ) ‘@
e 1852 [47.04) ————emy ‘__,__ 1.862 [47.04] A

P.C.B. LAYOUT FOR

STANDARD P.C.B. LAYOUT
590 METAL BRACKET ONLY

xx = To complete the P/N, see page 5 to assign Mounting Code and Filter Capacitance.
For electrical and mechanicai specifications, see pages 2 and 3.

Amphenol® Canada Corp. Telephone: (416) 754-5656 Facsimile: (416) 754-8668 '




SOCKET

o 2729 {69.32) ]
| e 2.159 [5484] ~am]
|
1 N
N

494 {12

~ 311 [7.80]
_’L”«
)
i
i

097306060 | Y
11 s
—— PGS RT T —

FILTERED

L
245 [6.22] .L.' ]L..— ,,,,,

0-SUB CONNEECTO

e 2729 [69.32]
b 2182 {55.42] el

[ U—

5, 18 17
O'O‘OBOO

OOOOO]

o
2 21022025025 M 350360370

5
Py
\IJ

<

2.500 {63.50] —omme

PIN-TO-SOCKET ADAPTER

/—— 4-40 UNC THREAD

{4 PLAGES) FOR
DEVIATION ~4XX

? 245 [6.22] | '
. L
. |~ Amphenol |
1145 529,08] 1 |
_i—— |
235 {5.97) ﬂ ﬁ B ﬁ n
i o Ti

Mounting Options
4-40 Threaded Inserts:

Through Hole with Mounting Post:

=~ 12 [3.05] DA

/  THROUGH HOLE AND
/ MOUNTING POST FOR
/ DEVITION —2xx

— 4-40 UNC THREAD
{BOTH ENDS)

FCC17-C37AD-4x0

FCC17-C37AD-2x%0

SOLDER CUP TERMINATION

230 (5.84] —on]
180 [¢.57]

Pin:
Socket:

038 {0.97] 4 ?.v

FCC17-C37PM-xx0
FCC17-C37SM-xx0

n

@

028 [0.71]

SOLDER CUP DETAIL
{ACCEPTS UP T0 20 AWG WIRE)

xx =To complete the P/N, see page 5 to assign Mounting Code and Filter Capacitance.
For electrical and mechanical specifications, see pages 2 and 3.

Amphenol® Canada Corp. Telephone: (416) 754-5656 Facsimile: (416) 754-8668



FILTERED O-SUB CONNECTORS

PC TAIL TERMINATION

VERTICAL MOUNT

— THROUGH

L /

HOLE

THROWGH
N HOLI

3
) -
i 4 i i T
o ¥ LUWWWWU%UWUWUUWJ"'“L L
" THREADED : 502;; Brlsgq 279 [7.09] — :l o i
L~ THREADED 140 [3.56] — |
INSERT 470 {11.94]
Pin: FCC17-C37PE-xx0 Pin: FCC17-C37PE-Ax0 Pin: FCC17-C37PN-mx0
Socket: FCC17-C37SE-»m0 Socket: FCC17-C37SE-Ax0 Socket: FCC17-C37SN-xx0
RIGHT ANGLE, WITH BOARDLOCKS

318" Footprint

318 [8.08] j ; ‘
056 [1.42] H..,
112 [2.84] b

Pin:
Sacket:

FCC17-C37PA-xx0
FCC17-C37SA-xx0

405" Footprint

405 [10.28) e I
056 [1.42] .-
;bd-,

112 [2.84] -

Pin:
Socket:

FCC17-C37PB-xx0
FCC17-C37SB-ux0

590" Footprint

540 [14.99) A I
o8 [1.42) I

1
i
|

112 [2.84] t:!
Pin: FCC17-C37PC-xx0
Socket: FCC17-C37SC-xx0

RIGHT ANGLE,

318" Footprint

405" Footprint

1
h f
L | L ']‘
518 [8.08) —lew—m] | § 435 [10.29) e
056 [1.42} H* 056 {1.42) H ‘LE
112 [2.84] fe— 11z {284] |

WITH METAL MOUNTING BRACKETS

.590" Footprint

—=

T

|
315 [8.00] —fue——wmi 1
590 [14.99] —m—— i

112 [2.84] —wm]

Pin: FCC17-C37PA-xxB Pin: FCC17-C37PB-xxB Pin: FCC17-C37PC-uxB
Socket: FCC17-C37SA-xxB Socket: FCC17-C37SB-uxB Socket: FCC17-C37SC-xxB
P.C.B. LAYOUT
040 [1.07) D = e 1956 [40.68] —
37 HOLES O 054 [1.37] ~o=]
; I_ 275 [6.99] 112 [2.84] 1
j—}ﬂv— 4-0-0-0-to-9-¢-61¢ 1‘ +-0-0-¢- 64
A R N E— S oo+ Af oot —
12 [2.84] ‘ I ~ ;2?10[13'05] » } 1 )‘
1 L2 —+ { £S i e
056 [1.42] J i‘ 6} @
e 2500 {83.55] o] Lc _____ 2,500 [63.50] — oo oo -]

STANDARD P.C.B. LAYOUT

xx = To complete the P/N, see page 5 to assign Mounting Code and Filter Capacitance.

P.C.B. LAYOUT FOR

.590 METAL BRACKET ONLY

For electrical and mechanical specifications, see pages 2 and 3.

Amphenol® Canada Corp. Telephone: (416) 754-5656 Facsimile: (416) 754-8668




